Geometric

Lesson 8-1

CCSS

Mean

You will find the geometric mean between
two numbers

You will solve problems involving
relationships between parts of a right
triangle and the altitude to its hypotenuse
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Geometric Mean
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Find the geometric mean between 2 and 50.

2 X X =00

x %0 J/T.

Find the geometric mean between 3 and 12.




If CD is the altitude to
hypotenuse of a right A
A

then the\two smaller A's K~
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Write a similarity F
statement identifying

the three similar

triangles in the figure. i
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Geometric Means in a Right Triangle

1) The altitude is the geometric mean between
the 2 parts of the hypotenuse ﬂ“
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Geometric Mean in a Right Triangle

2) A leg of the big right triangle is the geometric
mean of the hypotenuse (of the big triangle) to
h {Q\art of the hypotenuse touching tEat leg
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Find ¢, d, and e.
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Find e and fto the nearest tenth
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